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Time : Three hours Maximum : 100 marks
Answer ALL questions.

PART A — (10 x 2 = 20 marks)

1. State Ohm’s law.

2.  Differentiate b/w mesh and loop analysis.

3. How do the current division method differ from voltage division method?
4. State maximﬁm power transfer theorem.

5.  Define resonance.

6.  State Dot rule.

7. Differentiate between steady state value and transient value.

8. What is the significance of Laplace theorem?

9. What do you mean by phase sequence?

10. Graphically locate neutral displacement voltage in a 3 phase voltage phasor
diagram.
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11. (a) For a circuit shown fig. 1 write node basis equation and determine node
voltages V, and V,. Determine the total power consumed by network.
(16)
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'Fig. 1
Or
(b) Calculate the current through Z; in the circuit diagram shown in Fig.2.
(16)
-J20L
Fig. 2
12. (a) (i) In the given circuit of Fig. 3, find the current i,,i,;,izand i,. (8)
2N
Fig. 3
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Fig. 4
Or
(b) State Norton’s theorem and find current using Norton’s theorem through
a load of 8Q in circuit shown below in Fig. 5 ; (16)

Fig. 5
13. (a) (i) Define quality factor of coil and derive an expression for it in terms
of resonance and Bandwidth. (6)
(ii) Show that resonant frequency of the parallel circuit shown in Fig. 6
below is g, by : (10)
A
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Fig. 6
Or




[image: image4.jpg]14.

15.

(b)

(a)

(b)

(a)

(b)

(i) Derive the expression for coefficient of coupling. (12)

(ii) Draw the equivalent circuit of a transformer. (4)

A series RL circuit with R = 50Q and L = 10 H has constant voltage
V =100V applied at t=0 by closing of switch. Find

(i) equation of i, V5 andV,
(ii) current t=0.5V .

Or

In circuit of Fig. 7, switch K is closed at position A at t=0. After a lapse

of time equivalent to one time constant, switch is moved to position B.
Determine the complete current. (16)
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Fig. 7

The unbalanced 3 phase load voltages of star circuit are
v,, =312.53| 8.69°'V

Vi, =157 .40| -103.81°V

V.. =250.10| 98.64° V

Obtain the sequence components. (16)
Or

For a balanced 3 phase circuits, show that two watt meter readings are





